- wwogL f

Cs224




@ Back panel (1052 x 210mm)

Top Panel (1238 x 347mm)

0 0
Drawer back
Drawer bottom X 3 (258 x 108mm)
Front panel (105.2 x 23cm) X 3 (265 x 162mm)
e ]
= = = Side drawer runner
X 2 (19 x 4.4cm)

z = Side panel

Base panel (154 x 244mm) X 2 (162 x 210mm) Middle drawer runner

X 2 (211 x 62mm)

o — [ ]

Direito (715 x 46mm)

@ Drawer front Drawer sides
B ° ° l X 3 (284 x 112mm) X 6 (175 x 108mm)
Esquerdo (715 x 46mm)
LISTA DE PECAS
~ DIMINSOES (mm PESO
N2 PECA COD. DESCRICAO Q1D ( )
comP LARG ESP UND
1 6699 Pé Direito 2 0,7150 0,0460 0,0460 0,693
2 6700 Pé Esquerdo 2 0,7150 0,0460 0,0460 0,693
3 6685 Laterais 2 0,1620 0,2100 0,0150 0,206
4 6711 Painel Traseiro 1 1,0520 0,3100 0,0150 1,472
5 6716 Armacao Frontal 1 1,0520 0,2300 0,0150 0,862
6 6710 Base 1 1,0840 0,2440 0,0150 1,952
7 6692 Corrediga Lateral 2 0,1900 0,0530 0,0160 0,075
8 8832 Lateral Gaveta 6 0,1750 | 0,1080 | 0,0130 0,090
9 8831 Costa Gaveta 3 0,2580 0,1080 0,0130 0,187
10 8830 Chapa Gaveta 3 0,2650 0,1620 0,0030 0,108
11 6688 Frente Gaveta 3 0,2840 0,1120 0,0150 0,307
12 6709 Tampo 1 1,2380 0,3470 0,0150 3,500
13 6704 Corredica Central 2 0,2110 0,0620 0,0160 0,107
A X 42 Cod.3900 B X 3 Cod.6106 C X 24 Cod.6200) D X 24 Cod.1079 E X 4 Cod.52 F X 3 Cod.7335
) @4} N Parafuso @4,0x35mm o N
Cavilha @ 8x30mm Puxador Santa Fé | Parafuso @3,5X25mm Philips Cabega Panela Parafuso $4,5x50mm Philips| Parafuso #3/14X19 mm ZP
@/ / @/ 0 §
[Ih_Lr] [m] Recycle
IOIII]L!LI‘IJIIHII|‘|2||||IIII‘I3III||I||‘|4|II||III‘ISIII\|||I||6|||||||I||7|||||||||I8|||| ||||I9|||]IIIIIHIII|IIIII‘IIII |||I|1‘2||||||IIII‘3IIII|I|I|1u| I\||||1|5|||||||||1|6







Step 1:

Step 2:




Step 3:

Step 4:




Step 5:

Step 6:




Step 7:

(2]

il

Wy

Step 8:




Step 9:




	Página 1
	Página 2
	Página 3
	Página 4
	Página 5
	Página 6
	Página 7
	Página 8

